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1.2 The Dirichlet Problem in a Strip

Dirichlet Problem in theopenset r consists of solving

ΔU 0 in r
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where Δ E Eye is the Laplacian operator

f given continuous function on 22

i.e Dirichlet problem BoundaryValueProblemforthe Laplaceequation

knownFact Solution to Dirichlet Problem inthe unitdisk ID
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In this section we illustrate how to use conformalmaps and

the solution of Dirichlet problem in the unit disc to solve

Dirichlet Problem in a more general domain 2 in
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Then boundary 22 of R consists of two components
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For technical reason let consider special cases
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Then by ftp.folx ftp.ficx o f is continuous

Using thesolution to the Dirichlet problem in the unit disc ID
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is the solution to the Dirichlet problem in the strip r
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Detailsmitted see Ext discussion on page216 intheTextbook


